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QUESTION 1

Refer to the exhibit.

¥

wWindows Lnui

Servers

On which storage access topology would a switched Fibre Channel SAN be configured to transport block storage
between edge compute and storage devices?

A. Topology 2 only

B. Topology 3 only
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C. Topology 2 or Topology 3
D. Topology 1

Correct Answer: C

QUESTION 2

Which cloud deployment model allows a company to rapidly expand capacity while maintaining full control of their
infrastructure?

A. Public cloud

B. laaS

C. Rapid Elasticity
D. Private cloud
Correct Answer: B

Reference: https://www.ibm.com/cloud/learn/iaas-paas-saas

QUESTION 3

What is a benefit of deploying virtual pools (compute, network and storage resources) over physical resources?
A. Improved business processes

B. Reduced IT capital expenditures

C. Reduced corporate network maintenance costs

D. Improved storage network performance

Correct Answer: A

QUESTION 4

What does a fully tested and validated solution with fewer vendors contribute to the hyper-converged infrastructure?
A. Improved application performance

B. Lower risk of network congestion

C. Improved capacity management

D. Operational simplicity

Correct Answer: B
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QUESTION 5

Which security concept focuses on minimizing the number of security breach points on the platform?
A. Vulnerability Management

B. Security Event Management

C. Threat Management

D. Identity Access Management

Correct Answer: D
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